PAYSLIP -	CONFIDENT	IAL				DEN	IO EMPLOY	ER LIMITED
Works No.	E007	Name	Peter, Th	ornton		NINo. AB12346		
Tax Code	1257L	Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cheque
Process Date	25/05/2023	Tax Peri	^{od} 4 V	Veek 2	Pay Period	28/04/202	23 - 25/05/20	23
GROSS PA	YMENTS Hou	r or No.	Rate	Amount	GROSS DE	DUCTIONS		Amount
BASIC PAY	10	60.00	30.00	4,800.00				
Overtime	:	2.00	33.00	66.00				
PAYMEN	ITS		DEDUC	TIONS		CUMUL	ATIVE INFO	
Current Gros	SS	4,866.00	PAYE Tax		1,332.49	Total Gross T)(To Date)	9,930.00
SSP (Sick Pa	ay)	0.00	NI Contrib	ution	535.26	Gross for PAY	E Tax TD	9,930.00
SMP / SAP /	SPP	0.00	Pension C	ontribution	0.00	Gross for NI T	D	9,930.00
Advance Ho	liday Pay	0.00	Stakeholde	er Pension	0.00	PAYE Tax Pai	d TD	2,743.78
			Student Lo	an	0	NI Paid TD		538.4
PAYE Refun	d	0.00	Attachmen	ts	0.00	Current Gross	for PAYE	4,866.00
NI Refund		0.00	Other Ded	ucting Items	0.00	Current Gross	for NIC	4,866.00
Total Payn	nents 4	,866.00	Total Dec	luctions	1,867.75	Net Pay	ment	2,998.2
Message 1.2	5% uplift in NIC	s funds l	NHS, healtl	n & social ca	are.			

PAYSLIP -	CONFIDENT	IAL				DEM	IO EMPLOY	ER LIMITED
Works No.	E009	Name	Audery, H	lepburn			NINo.	B123464C
Tax Code	1257L	Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cheque
Process Date	25/05/2023	Tax Peri	^{od} 4 W	eek 2	Pay Period	28/04/202	23 - 25/05/20	23
GROSS PA	YMENTS Hou	r or No.	Rate	Amount	GROSS DE	DUCTIONS		Amount
BASIC PAY	1	60.00	25.00	4,000.00				
Overtime	:	5.00	28.00	140.00				
PAYMEN	TS		DEDUCT	IONS		CUMUL	ATIVE INFC	
Current Gros	S	4,140.00	PAYE Tax		1,037.29	Total Gross TE)(To Date)	8,308.00
SSP (Sick Pa	ay)	0.00	NI Contribut	tion	256.72	Gross for PAY	E Tax TD	8,308.00
SMP / SAP /	SPP	0.00	Pension Co	ntribution	0.00	Gross for NI TI	D	8,308.00
Advance Hol	iday Pay	0.00	Stakeholder	Pension	0.00	PAYE Tax Pai	d TD	2,085.78
			Student Loa	in	0	NI Paid TD		513.72
PAYE Refun	d	0.00	Attachments	S	0.00	Current Gross	for PAYE	4,140.00
NI Refund		0.00	Other Dedu	cting Items	0.00	Current Gross	for NIC	4,140.00
Total Payn	nents 4	1,140.00	Total Dedu	uctions	1,294.01	Net Pay	ment	2,845.99
Message 1.25	5% uplift in NIC	s funds N	IHS, health &	& social ca	re.			

PAYSLIP - C	ONFIDENTIA	٨L				DEM	O EMPLOY	ER LIMITED	
Works No.	E014	Name	Andy, Gilro	у			NINo.	AB123469C	
Tax Code	1257L	Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cash	
Process Date	25/05/202	23	^{od} 4 W	/eek 2	Pay Period	28/04/202	28/04/2023 - 25/05/2023		
GROSS PAYN	1ENTS F	lour or No.	Rate	Amount	GROSS DEDL	JCTIONS		Amount	
BASIC PAY		160.00	26.00	4,160.00					
Overtime		2.00	28.00	56.00					
PAYMENT	S		DEDUCTI	ONS		CUMULA	TIVE INFO		
Current Gros	s	4,216.00	PAYE Tax		0.00	Total Gross TD) (To Date)	8,488.00	
SSP (Sick Pa	ay)	0.00	NI Contribu	tion	257.48	Gross for PAY	E Tax TD	8,488.00	
SMP / SAP /	SPP	0.00	Pension Co	ntribution	0.00	Gross for NI TI	C	8,488.00	
Advance Hol	iday Pay	0.00	Stakeholde	r Pension	0.00	PAYE Tax Paid	d TD	0.00	
			Student Loa	an	0	NI Paid TD		515.52	
PAYE Refun	d	0.00	Attachment	s	0.00	Current Gross	for PAYE	4,216.00	
NI Refund		0.00	Other Dedu	cting Items	0.00	Current Gross	for NIC	4,216.00	
Total Payme	ents	4,216.00	Total Dedu	ctions	257.48	Net Paym	nent	3,958.52	
Message 1.25	5% uplift in N	NICs funds N	HS, health a	& social ca	re.				

PAYSLIP - CO	ONFIDENTIAL					DEM	O EMPLOYER	RLIMITED
Works No.	E016	Name	Pamela, A	nderson		AB1234		
Tax Code	1257L	Holidays	Holidays Accrued TD		Holiday Balance	7.94	Pay Method	Cash
Process Date	25/05/2023	Tax Peri	^{od} 4 V	Veek 2	Pay Period	28/04/202	3 - 25/05/20)23
GROSS PAYM	IENTS Hou	r or No.	Rate	Amount	GROSS DEDU	JCTIONS		Amount
BASIC PAY	1	60.00	24.00	3,840.00				
Overtime		4.00	29.00	116.00				
PAYMENTS	S		DEDUCT	ONS		CUMULA	TIVE INFO	
Current Gros	S	3,956.00	PAYE Tax		959.29	Total Gross TE) (To Date)	7,854.00
SSP (Sick Pa	ay)	0.00	NI Contribu	ution	254.88	Gross for PAY	E Tax TD	7,854.00
SMP / SAP /	SPP	0.00	Pension Co	ontribution	0.00	Gross for NI T	D	7,854.00
Advance Holi	iday Pay	0.00	Stakeholde	er Pension	0.00	PAYE Tax Pai	d TD	1,895.38
			Student Lo	an	0	NI Paid TD		509.18
PAYE Refund	d	0.00	Attachmen	ts	0.00	Current Gross	for PAYE	3,956.00
NI Refund		0.00	Other Ded	ucting Items	0.00	Current Gross	for NIC	3,956.00
Total Payme	nts	3,956.00	Total Dedu	ictions	1,214.17	Net Payn	nent	2,741.83
Message 1.25	% uplift in NIC	s funds N	IHS, health	& social ca	re.	1		

PAYSLIP - C	ONFIDENTIAL	1				DEM	O EMPLOYE	R LIMITED
Works No.	E019	Name	Mary, Long	fellow		NINo. AB12347		
Tax Code	1257L	Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cash
Process Date	25/05/2023	Tax Peri	^{od} 4 W	eek 2	Pay Period	28/04/202	3 - 25/05/2	023
GROSS PAYN	1ENTS Hour	or No.	Rate	Amount	GROSS DEDL	JCTIONS		Amount
BASIC PAY	16	60.00	25.00	4,000.00				
Overtime	2	2.00	29.00	58.00				
PAYMENT	S		DEDUCTI	ONS		CUMULA	TIVE INFO	
Current Gros	ss é	4,058.00	PAYE Tax		1,000.09	Total Gross TE)(To Date)	8,203.00
SSP (Sick Pa	ay)	0.00	NI Contribu	tion	121.09	Gross for PAY	E Tax TD	8,203.00
SMP / SAP /	SPP	0.00	Pension Co	ntribution	0.00	Gross for NI TD		8,203.00
Advance Hol	iday Pay	0.00	Stakeholde	r Pension	0.00	PAYE Tax Paid TD		2,034.98
			Student Loa	an	0	NI Paid TD		243.05
PAYE Refun	d	0.00	Attachment	s	0.00	Current Gross	for PAYE	4,058.00
NI Refund		0.00	Other Dedu	cting Items	0.00	Current Gross	for NIC	4,058.00
Total Payme	ents 4	,058.00	Total Dedu	ctions	1,121.18	Net Paym	nent	2,936.82
Message 1.25	5% uplift in NICs	funds N	HS, health a	& social ca	re.	·		

PAYSLIP - C	ONFIDENTIA	۱L				DEM	O EMPLOYE	R LIMITED
Works No.	E022	Name	_inda, Whit	tty			AB123477C	
Tax Code	1257L	Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cash
Process Date	25/05/202	23 Tax Peri	^{od} 4 W	eek 2	Pay Period	28/04/2023 - 25/05/2023		
GROSS PAYN	IENTS F	lour or No.	Rate	Amount	GROSS DEDL	JCTIONS		Amount
BASIC PAY		160.00	21.00	3,360.00				
Overtime		4.00	25.00	100.00				
PAYMENT	S		DEDUCTIO	ONS		CUMULA	TIVE INFO	
Current Gros	s	3,460.00	PAYE Tax		884.89	Total Gross TE) (To Date)	6,920.00
SSP (Sick Pa	ay)	0.00	NI Contribut	tion	249.92	Gross for PAY	E Tax TD	6,920.00
SMP / SAP /	SPP	0.00	Pension Co	ntribution	0.00	Gross for NI TI	C	6,920.00
Advance Hol	iday Pay	0.00	Stakeholde	Pension	0.00	PAYE Tax Pai	d TD	1,769.78
			Student Loa	in	207	NI Paid TD		499.84
PAYE Refun	d	0.00	Attachment	S	0.00	Current Gross	for PAYE	3,460.00
NI Refund		0.00	Other Dedu	cting Items	0.00	Current Gross	for NIC	3,460.00
Total Payme	ents	3,460.00	Total Dedu	ctions	1,341.81	Net Paym	nent	2,118.19
Message 1.25	5% uplift in N	NCs funds N	HS, health ሪ	& social ca	re.	·		

PAYSLIP - C	ONFIDENT	IAL					DEM	O EMPLOYE	R LIMITED
Works No.	E024		Name	Calla, Blac	:k			AB123479C	
Tax Code	1257L		Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cash
Process Date	25/05/20	023	Tax Peri	^{od} 4 V	Veek 2	Pay Period	28/04/202	3 - 25/05/2	023
GROSS PAYN	1ENTS	Hour	or No.	Rate	Amount	GROSS DEDU	ICTIONS		Amount
BASIC PAY		160	0.00	24.00	3,840.00				
Overtime		7.	.00	24.00	168.00				
PAYMENT	S			DEDUCT	IONS		CUMULA	TIVE INFO	
Current Gros	ss	4	,008.00	PAYE Tax		984.49	Total Gross TE) (To Date)	8,040.00
SSP (Sick Pa	ay)		0.00	NI Contrib	ution	255.40	Gross for PAY	E Tax TD	8,040.00
SMP / SAP /	SPP		0.00	Pension C	ontribution	0.00	Gross for NI TI	C	8,040.00
Advance Hol	liday Pay		0.00	Stakehold	er Pension	0.00	PAYE Tax Pai	d TD	1,978.58
				Student Lo	ban	0	NI Paid TD		511.04
PAYE Refun	d		0.00	Attachmer	nts	0.00	Current Gross	for PAYE	4,008.00
NI Refund			0.00	Other Ded	ucting Items	0.00	Current Gross	for NIC	4,008.00
Total Payme	ents	4,0	008.00	Total Ded	uctions	1,239.89	Net Paym	nent	2,768.11
Message 1.25	5% uplift in	n NICs	funds N	HS, health	& social ca	re.			

PAYSLIP - C	ONFIDENTIAL					DEM	O EMPLOYER	LIMITED	
Works No.	E027	Name	Tom, Hank	S			NINo. AB12346		
Tax Code	1257L	Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cheque	
Process Date	25/05/2023	Tax Peri	^{od} 4 W	eek 2	Pay Period	Period 28/04/2023 - 25/05/2023			
GROSS PAYN	IENTS Hour	or No.	Rate	Amount	GROSS DEDU	ICTIONS		Amount	
BASIC PAY	16	60.00	25.00	4,000.00					
Overtime	Ę	5.00	28.00	140.00					
PAYMENT	S		DEDUCTIO	ONS		CUMULA	TIVE INFO		
Current Gros	S ·	4,140.00	PAYE Tax		1,037.29	Total Gross TE)(To Date)	8,308.00	
SSP (Sick Pa	ay)	0.00	NI Contribut	tion	360.03	Gross for PAY	E Tax TD	8,308.00	
SMP / SAP /	SPP	0.00	Pension Co	ntribution	0.00	Gross for NI TI	C	8,308.00	
Advance Hol	iday Pay	0.00	Stakeholder	Pension	0.00	PAYE Tax Pai	d TD	2,085.78	
			Student Loa	an	0	NI Paid TD		360.03	
PAYE Refun	d	0.00	Attachments	S	0.00	Current Gross	for PAYE	4,140.00	
NI Refund		0.00	Other Dedu	cting Items	0.00	Current Gross	for NIC	4,140.00	
Total Payme	ents 4	,140.00	Total Dedu	ctions	1,397.32	Net Paym	nent	2,742.68	
Message 1.25	5% uplift in NICs	s funds N	IHS, health &	& social ca	re.	·			

PAYSLIP - C	ONFIDENTIAL					DEM	O EMPLOYE	R LIMITED	
Works No.	E034	Name	Angelina, J	ulie			AB12347		
Tax Code	1257L	Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cash	
Process Date	25/05/2023	Tax Peri	^{od} 4 W	eek 2	Pay Period	28/04/202	3 - 25/05/2	023	
GROSS PAYN	IENTS Hour	or No.	Rate	Amount	GROSS DEDL	ICTIONS		Amount	
BASIC PAY	10	60.00	23.00	3,680.00					
Overtime	:	5.00	24.00	120.00					
PAYMENT	S		DEDUCTIO	ONS		CUMULA	TIVE INFO		
Current Gros	S	3,800.00	PAYE Tax		1,020.89	Total Gross TE)(To Date)	7,696.00	
SSP (Sick Pa	ay)	0.00	NI Contribut	tion	118.51	Gross for PAY	E Tax TD	7,696.00	
SMP / SAP /	SPP	0.00	Pension Co	ntribution	0.00	Gross for NI TI	C	7,696.00	
Advance Hol	iday Pay	0.00	Stakeholder	r Pension	0.00	PAYE Tax Paid TD		2,080.18	
			Student Loa	an	0	NI Paid TD		237.98	
PAYE Refun	d	0.00	Attachment	s	0.00	Current Gross	for PAYE	3,800.00	
NI Refund		0.00	Other Dedu	cting Items	0.00	Current Gross	for NIC	3,800.00	
Total Payme	ents 3	,800.00	Total Dedu	ctions	1,139.40	Net Paym	nent	2,660.60	
Message 1.25	i% uplift in NIC	s funds N	HS, health 8	& social ca	re.	•			

PAYSLIP - CO	ONFIDENTIAL					DEM	O EMPLOYE	R LIMITED	
Works No.	E035	Name	Kate, Huds	on			AB1234		
Tax Code	1257L	Holidays	Accrued TD	7.94	Holiday Balance	7.94	Pay Method	Cash	
Process Date	25/05/2023	Tax Peri	^{od} 4 W	eek 2	Pay Period	28/04/202	3 - 25/05/2	023	
GROSS PAYM	IENTS Hou	or No.	Rate	Amount	GROSS DEDU	JCTIONS		Amount	
BASIC PAY	1	60.00	26.00	4,160.00					
Overtime		7.00	28.00	196.00					
PAYMENT	S		DEDUCTIO	ONS		CUMULA	TIVE INFO		
Current Gros	S	4,356.00	PAYE Tax		1,123.69	Total Gross TE)(To Date)	8,600.00	
SSP (Sick Pa	ay)	0.00	NI Contribut	tion	124.07	Gross for PAY	E Tax TD	8,600.00	
SMP / SAP /	SPP	0.00	Pension Co	ntribution	0.00	Gross for NI TI	C	8,600.00	
Advance Hol	iday Pay	0.00	Stakeholder	r Pension	0.00	PAYE Tax Pai	d TD	2,202.58	
			Student Loa	an	0	NI Paid TD		247.02	
PAYE Refun	d	0.00	Attachment	s	0.00	Current Gross	for PAYE	4,356.00	
NI Refund		0.00	Other Dedu	cting Items	0.00	Current Gross	for NIC	4,356.00	
Total Payme	nts 4	ł,356.00	Total Dedu	ctions	1,247.76	Net Paym	nent	3,108.24	
Message 1.25	% uplift in NIC	s funds N	lHS, health ઠ	& social ca	re.				